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3 Time-dependent Schrodinger equation for a free purticle in cne-tmere

= -
—

18 !

{A) rl’x%q:(x, )= - EZ:; g;m(x, t)
(B) iﬁa%zi-qv(x, 1) = - —;—; af-g;pfx, £
() ia:” Olx, t) = - ;Tiggw(x’ £)
D) -%%iﬂx, £) = iﬁiw(x, £)

2 The probability eurrent density, J'(-,'.: #) 18 given by !
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A particle constrained to move along x-sxis In the domain 0 < x £ I, has

a wave function ) = Sml_]_, '  whetre p i4an integer. Find the normali-
J

zation constant,

A) J‘E
'l
(B) \ L
i
) \l 5
12
(L \‘L

The mathematical representation ofa sphorical wave travelling outwards from
- - v s 1o A L’{J‘ . " A N R .
a point ig given by Pir) = el where A ig a constant and % is the wave

veotor. Find the sxpréssion for the probability current density
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5.  The phase velocity of a relativistic particle of rest mass my, having de Broglie
wavalength A 1s :

; ) \'lf?.
(1 + mac™s?
(A) ‘:L 52
J
1 - mgcz?»zJ

{B) C{ —h'z"—

(C) C—?“‘

D) c(l s i }

6. Electrons of energy 12.08 oV can cause rediation to be emitied frem 2 hydrogen
atom. Find the principal quantum number of the orbit to which lectron in

the hydrogen atom is exeited :
(A) 5 (B) 4

© 3 (D) 2

AP(AS&H) Phy.-3/2014 4
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The density snd atomic weight of hydrogen are (.08898 kg/m3 and 1.00797,

respectively. What is the density (in kgfrﬁ3) of nitrogen of atomic weight

14.0067 ?
(A) 2426 (B) 1.236
() 1.007 (D) 0.876

What is the magneiic moment (in amp-rnz) associated with the first orbit in

the case of hydrogen atom ?
(4) 2.31 x 1079 @) 323 x 10738

() 927 x 107 D) 0.27 x 1079

A photon of wavelength 140 nm is absorbed by mercury vapour and two other
photons are emitted. If one of them is of 185 nm line, what is the wavelength

of the other photon ?
(A) 3758 nm (B} 413.7 nm

(C) 4379 nm (D) B575.2 nm

B.T.O.
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10.

11

Assuming an ovorlap interaction between nearest neighbeurs of the type
_ ’ |‘ r \] o
olr) = Bexp \‘ B’ J where B and p are congtants, find the equilibrium spacing

ry in terms. of B and p.

1 |
(A p log B (B) plog, B
"t 2 \ 3
((/) §p k'geB m) —2- [ ,OgeB

How mauny photons of radiation of wavelength & ¥ 107 motre must fall per|

. second on a blackened plate to produce a foree of ene dyne ?

(&) 7.8 x 102! (By 36 x 10%

© 49 x 109 M 56 x 1027

An Xray tube passes 10 mA current at a potential difference of 150 KV, Finc
the rate at which the target is being heated if' only 1% of the incident energ;

is converled into X-rays.
(A} 2100 W (B} 1823 W

(C) 1785 W (1) 1485 W

AP(AS&H) Phy.-3/2014 6



13,  The mass absorption coefficient of iron for X-rays of wavelength 0.013 nm
i< 0.04 m%/kg. What thickness of ivon is required to reduce the X-ray intensity

ta 1/1000 of itg original value ? Take, density of iron = 5000 kg/ms.
(A) 0.02 m (B) 005 m
() 007 m D 00% m
14, Find the de Broglic wavelength of a 10 eV elsctron.
(A) 0,543 nm (B) 0.488 nm
() 0.388 nm (D) 0.198 nm

15. A beam of neutrons with energies ranging from zero to several electron volts
is divected af & erystal with a grating space of 0.308 nm. Find the angle between
the incident beam and the erystal so that the reflecied neutrons will have

a kinetic enargy of 0.1 eV,
(A) sin~t (0.29) (B) sin~' (0.15)

(@) cos™ (0,09 D) cos* (0.25)

AP(AS&H) Phy.-3/2014 7 P.T.0.



18. If a proton is confined to a nuclens ‘of radiug 5 x 107 15 metre. what is the

value of its minimum kinetic energy ?

(A) 0.21 MeV

(B) 0.32 MeV

(C) 0.45 MeV
(D) 0.17 MeV

17.  An electron is confined to move between two ngld walls separated by 1.0
Find the de Broglie wavelengths representing the first three allowed ener

atates of the electron and the correspending energies ?
(A) 1.2 nm, 0.83 nm, (.45 nm

(B) 5.6 nm, 3.6 nm, 9.3 nm

() 2.0 nm, 1.0 nm, (.67 nm

(D) D.68 nm, 0.53 nm, 0.33 nm

AP(AS&H) Phy,-3/2014 8



i18. How many atoms per mm? surface area are there in (1, 1, 0) plane for lead

which has fee structure. The radius of the atoms is 0.174 nm.
(A) 13 x 10719 (B) 3.3 x 107
(C) 7.3 x 101 M) 5.8 x 102

19. For a simple cubic lattice, compare the density of points in (1, 1, 1) and

(1, 1, 0) planes ;

(&) J1:43 B) J2:48
@ 1:3 @ 2:3

20,  What iz the lowest energy of an electron confined in a box of each sde

0.1 nm?
(A) 112.9 oV (B) 167.3 eV
(C) 1982 eV (D) 2134 eV

AP(AS&H) Phy.-3/2014 9 P.T.O.



21

A particle of mass 1.0 pgm is confined to move between two right walls separated
by a distance of 0.1 mm. If the particle requires 100s {o ¢ross the gap. What

quantum number destribes thiz motion 7
(4) 1012 B) 2 x 10+
(€) & x 10™ M) 4 x 10%°

The Fermi energy of silver is 5.51 eV, What iz lhe average energy of the

frez electrons in silver at 0 K 7
(A) 6.93 eV (B) 5.03 eV
(C) 418 eV D) 251 aV

At what fraquency will there be a 0,01% ehange in the conduclivity of a materiz!

from the static value if the relaxation time is of the order of 10 14 s,
(A) 180 GHz (B) 279 (CHz

(C) 382 GHz (D) 523 GHz

AP(AS&H) Phy.-3/2014 10



26

Sind the eritical eurrent which can flow through 4 long thin supereonducting
wire of wluminium of diameter 1072 meter. The critical magnetic field for

aluminium 8 7.9 x10% amp/motre.

(A) 265 A (B) 248 A
Q) 214 & M) 189 A

The critical tomperature for some meta! with isetopic mass 100 is-4.2 K. Find

ita eritical temporubure when its isotopic mass changues to 121 :
(A) 380 K (B} 828 K
(C) 6.78 K (D) 7.89 K

A magnatic material has o magnetization of 3300 amp/metrs and flux density

of 00044 weboer/meters. Tind the magnetising force of the matorial :
() 413 A/m (B 375 Afm

(C) 309 A/m () 203 Am

APIAS&H) Phy.-3/2014 11 : PTO



97.  'The variation of ln o of & semiconductor with T~L is shown in the figure (zymbols

have their usual meanings). Fiad the band gap.

Ino
T —p
(4) 0.29 eV (B) 0.43 eV
() 0.58 eV (M 0.86 eV

28, An electric field of 100 V/m is applied to a sample of n-type semiconduetor
whose Hall coefficient iz ~0.0125 m3/eoulomb. Find the current decsity in the
sample, assuming p, = 0.38 meV- gL,

(4) 2880 A/m® (B) 2020 A/m®
(C) 1639 A/m® (D} 1023 A/m?

AP(AS&H) Phy.-3/2014 19



29.

30.

31.

A spaceship moving away from earth with velocity of (.5¢ fires a rocket whose
velocity relative to spaceship is 0.8 away from the earth. What will be the

velocity of the rocket as observed from the sarth
(A) 0.31¢ (B) 041 ¢
() 0.61 ¢ () 0.71 ¢

Find the minimum wavelengt_h' of radiation for which diamond can be trans-

parent, given the energy gap for diamond to be 6.0 eV.
(4) 109 nm (B} 207 nm
(C) 413 om (D) 512 onm

A laser beam of wavelength 7400 A has coherence time 4 x 107 sec. Find

the order of magnitude of spectral half width -

(A) 045 A (B) 055 A

(C) 061 A (D) 0.72 A

P(AS&H) Phv.-3/2014 13 PTO



32. A particle of mass m moves ander the influence of the potential

V(x)=é§-%

P , where A, B > 0. Find the froquency of small oscillations

around the equlibrium point :

f

. ' 2z ‘. B'l
(a2 \]S_mA'z (B) '\|gmA3
gt [
e \)3 MmA® M Agmp’

39 A mass m with speed v approaches a statiopary mass M. The masses bounae
off each other without any loss in total energy Whiit are the final velocities

of the particles ?

i m - Mv' i o _ 2w
A Pm T MY mt

- o M I‘ixr _ Zmw
(B) I m_M’UM m_M

) e RO s o BTN
€ Y=g M Y m+M

W =T PO L.
W T M Y m e M
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34.  Band dropa vertically from a negligible height at a rate o kgfs onto a moving

conveyor belt, If the conveyer belt is foreed to move at a vongtant speed U,
how much energy iz lost to heat per unit time ?

2 2

(871 (a4

gy B2 g
) Z B) Z
2

©) g D &

35.  The Lagrangian of a particle of mass m sliding off a fixed frictionless hemi-

sphere of radius R (shown in figure) is

(&) L =mR6® - mgRsin0d

s 1 -9 5i
(B} L = :émRB - ngsmB
(@) L= %mRzé? ~ mg Reos0
M) L= lmRé2 - -lfmg'RcosB

AP(ASZH) Phy -
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38. Consider 2 mass m on a spring, with relaxed length zero, in the x-y plane.
RITOND s sy R, W (1) P RN —— =
The Lagrangian L = 3 mix” + 37 - EJ(J? + ¥°) ig invariant under the

change of coordinates, ¥ —x+ €y and y =y — €1,%0 first order in &. Find

the conserved momentumn.
(A) mlxy - 'yi) (B) mixy - 3x)
€)Y mix + ») D) m3x + 39

37, The inertia tensor for a solid cube of mass M and side length L, with the
coordinate axes parallel to the edges of the cube and the origin at & corner,

g o

T T e “ 2 2

8.l & + 3 3

2 |1 2 1 g | 2 1 2

() MU -2 3 -7 (B) ML =g o
A 2R 2 2 1

g &R L3 8 4,
S & Bt 2 9

3 4 4 43 3

Toewl 3 % _3% s ) R
MR |- = — EMIE| T = =
€ 3 £ 3 14 @ Ml 3 oy 3
11 2 2 2 -1

. 4 4 3 L. 3 3 4

AP(AS&H) Phy.-3/2014 16



38.

39.

Two trains, A and B each have proper length L and move in the same direction
A's speed is 4¢/5 and B's speod is 3¢/5. A starts behind B. How long, as viewed

by an obssrver on the ground, does it take for A to overtake B?

(A) L (B) L
c ¢
¥ | L
(C) L (D) i
c 54

A particle of mass M and energy E decays into two identical particles A and.
B. In the lab frame, A and B are emitted, as shown, What are the energies

of the created particles ?

B
— -
M
M? 2B - M*
(A} By =0 By o
2E* - M? e
B By s R 7P T oy
(C) EA=M;EB=E"M :
\
2 g 2
M E, = %;EB = = IV*I—

P(AS&H) Phy.-3/2014 17 P.T.O.



410.

41.

A particle of mass m acted upon by & restoring force F = -~ mbix® vowards
the contre of the foree O, where x is the distance of the particle from O and
k the farce constant. If the particle begins its motion from & point at a distance

d from O, how much time it will take to reach al 07

i d*
(A = ® 7
_ d d
(C) A (D) T

The alectromagnetic foree sxperienced by a particle having charge ¢ and meving

with volucit;} ;,) in an slectric field E ‘and m,agnetic field E is :

() E‘zq(E-va)

-7

ol
X

B F=gF -Bxu
(C) l;‘zq(ﬁ+;;x§)
(D)ﬁzdg—:xﬁ)

AP(AS&H) Phy.-3/2014 18



42.  Forthe potential energy [J = :

foree is ;
(a4) r | e
1 { P -
y Fis=tip) P oot
15 2 o)
N Pt Y Li—ar (
(). 2 L 3 J
e F oo i 1 + !‘._2_-.~E
() 2 [ o2

". y -
T =7, the expression for the corresponding
re

43. A planet is revolving around the sun in an ellipties] arhit with semi-major

axis ‘a"and semi-minor axis ‘2’. The ratio of the maximum and the minimum

speeds of the planet i :

PASEH) Phy.-3/2014

a” + h*
6 + yJa® - p?
@ - ya* - b
19 : _ P.TVO.



45.

1

A particle of mass m 1s thrown vertically upward with & velocity . from the
carth's surface. If the frictional force of the air is mhv? (where v is the
{nstantaneous velocity and & the force constant), the time taken by the particle
to reach the highest point is :

Ay T3 fan t—r——

. -l
— fan | - oy o 8in -
€ (JE) @) gk L@}
Two particles P and Q of masses m; and mj respectively, move under their

gravitational attraction {as shown), The Lagrangian equations for the motion

of these particles are !

O P Q
.— i e e
my g
€ Xy —>
& X, . L%
i G 4 Gmy
(A) 1 (J’,; .. x.1-)2 3 (x.‘ 2 _x1)2
Gimg Gy
Fom e Ky & g
5\:‘ = ‘—%—' x2 — —-—_‘E?»r‘_z._—
€@ " e - B ' e e
i G . Gm
(D) ”z="—m'1—§2xz=*—' :
‘-xz = xl). (x2 = 1'1)

AP(AS&H) Phy.-3/2014 20



46.  The Lagrangian of a particle sgiven by L = o™ (r2+ > 93) = V{r}. Find

the generalized momenta.

-

1

B) B = omiipy = Smrtd

1
2
B b = gwiin = Sl
©) p, = mr;py = mr
D) p, = 2mi;p, = N2 mrk
47, Which of the following properties is sa;tisﬁed by Poissan brackets ?

(A) 'f, g]q'p e [g’ ﬂqéq = lg: ﬂ}?.‘,’

(B) If, c]q_ p * 0, ¢is a constent
©) W+ fo &y = s 8lyp = B folyg

3 o ®
(D) 'a—t[f; gjqu * l:af’ gl‘p g [f’ ai .lq,p

AP(AS&H) Phy.-3/2014 91 RT.0.



49.

50.

pl.

If & particle deseribes an orbit r = ael’®, the force on it varies as-

(A) = (B) }g
I ' o
4 1

For a particle moving under the inverse square law of force, with kinetic energy

T and potential energy V, which of the following relations is satisfied by T

and V 7
A 2+ V=20 : (B) T + V = copstant
) T+V=0 O T-V=0

The halflife time of a radicactive particle measured in the laboratory 18

40 x 1078 when its speed 1s 0.8¢. Find the half-hife time when its speed

15 0.8¢.
(&) 80x 107% (B 40 x 107%
C) 3.0 x 107% (D) 2.2 x 10%

At what speed a clock should be moved a0 that it may appear to lose 1 minute

in each hour 7

(&) 5.5 % 107me (B) 5.6 x 10°mis
(©) 39 x 10°mle M) 2.6 » 1W0'm/s

AP(ASE&H) Phy.-3/2014 22



62. Find the velocity of an electron so that its momentum is 10 times that of

the product of itg rest mass and the speed of light (¢) :

(A) (L.563c (B} 0.695¢
() 0.837¢ - (D} 0.995¢

53. A pont P is represented in the {xq, ¥y, 2¢) system by P(1, 2, 8). In another
coordinate gystem, the same point is represented as Pz, ¥, 2{) where yq
has been rotated towards z; around the x,-axis by an angle of 30°. Find the

rotation matrix :

/ b fl k)
1 0 0 (5 W 0
B 1 1. B
: SPERL A ’ A2
@ (05 3 22
g 1 S8 o L8
\ 2 &) § 2 2 )
¢ 5 4 A\
P & b -3 L
i =
; va o1 . V3o 1
1 1 43 g 1 A3

64. Two position vectors are repregented in cartesian coordinates as

- - ; { I = L
A=i+2j-2kandpg — 4 + 2] - 34 Findtheangle between A and B.
(A) 80° (B) 60
(C) 45° Dy 30°

AP(AS&H) Phy .-3/2014 23 P.TO.



Consider the one-dimensional potential, Ulx) =

—wd®%* + dY)
. Find the
<* + 8d*

turning points for B = '%. The value of w is positive.

(A) +242d, 0 - B) +2+v2d, 1
(C) +2J2d, +d @) 2+2d, 0

AnmothdﬂvingfomﬁxnctioniaahownmtheﬁgumExpMFmasa

Fourier series :

(A)

B)

(&)

§5))

t Fo
A2 T -

R = A[s‘mux + -liainmnt 4 %ainScm n Tk ]
Fit) = %[ainwt ~ gin2af + gin3ot +i..]

it = A[dnmt - -lésinzu, R %sinsm 2 i ]

AP(AS&H) Phy.-3/2014 24



a7.

Halley's comet, which passed around the sun in 1986, moves in & highly él]iptiical
orbit with an eceentricity of 0.97 and a period of 76 years: Find its maximum

distance from the sun. (Given mass of the sun = 2.0 x 1030 ke; G = 6.7 x

10711 Nmzlkgz).
(&) B9 x 10¥%m (B) 62 % 10%%m

(C) 5.8 x 10%m D) 2.9 x 10Mm

For the common base cireuit, as shown, find the values of I, and Vg

(Take : VBE = 0,7V)

Ig Lo
R w RC:’- .2 K i
E !
sl N g
(A) 49 mA ;122 V (B) 32ma; 108V
() 25 mA ; 88V (M 19ma;57V

AP(AS&TH) Phy.-3/2014 08 P.T.0.



59. Group the following nuclel as igotones :

T 1804 M3y By B B B Mgy 1T 17
GC’ bcy 'IvaSov ",‘1\$ Bop GG, éo. -.'N, 80

&) %N, 30
@ Bc, 4N, 50
@ YN, %0 :

o) “o, %0, §C

60. A singly charged positive ien is accelerated through & potential difference

of 1000 V in a mass spectrograph. Tt then passes thrpugh & uaiform m agnelic

field B = 1500 Gauss, and then deflected mto 4 civeular path of radius 0.122 m.

What is the mass number of the 1on ?

(A) 8 (B) 12

() 18 (D) 40

AP(AS&H) Phy.-3/2014 26



61,

62.

63,

For the mirror nuctel 1{Na and % Mg, the approximate value'of the Coulamb
coeflicient is :
[(7iNa) = 22.989 smy, M( 15Mg ) = 22.994 aenu, M() = 1,008 arm,
M{p)=1.007 amu]
(4) 0.13 MeV (B) 0.36 MeV

(C) 0.49 McV (D} 0.66 MeV

On the basis of shell model, the magnetic moment {in the units of nuclesr

magneton) of FNe nueleus is ;

(A 499 (B) 3,786

Gy 229 (D) 176

Which of the following reactors produced maximum peutron Plux ?
(A) Apsara (B) Zerhna

(€ ‘Dhurva ' 0 Kamidi

AP(AS&H) Phy.-3/2014 27 PTO.



g4. The scattering of an energetic charged particle in matier is mostly due fo

interaction with :
(A) electrons (B) pions
() nucle (D) quarks

85. An X-ray photon of frequency 3.2 x 101® Hz éollides with an electron and

gets seattered through 60° What is the frequency (in Hz) of scattered

photon 7
(A) 9.92 x 10% (B) 247 x 10'°
() 1.02 x 10 D) 628 x 16Y

6. Find the velocity of electrans having kineti¢ energy of 1.022 MeV using

relativistic considerations :
(A) 094 r (B) 0.92¢

W) 0.89 ¢ (D) 0.82 ¢

AP(AS&H) Phy.-3/2014 28



67. In a 70 MeV betstron synchrotron, the radive of the stable orbit iz 28 c¢m.

Find the value of magnetic feld at this orhit for the given energy -
(A) 064 T (B 0.72T
(C) 083 7T @ 091 7T
68. Arrange the following particleg according to thier masses, greatest first
A% T
(&) = ¥ A% p
® pAY 2 =
€ A% p, =, 30
0 A%, 5 p
69. What is the quark composition of T~ ?

(A) uus (B} wuda

(C) dds (D) uss

AP(AR&H) Phy.-3/2014 24 P.T.O.



70.

T1.

(A) ©;0;

(B) o;0; -~ 9,0

(C) o9,

’rﬂ‘ﬁi=2ﬂk

4

210y

\

= GJct = 2‘5*

(D) 9;0; +0,00 = 2ict,

Image of |z + 1|under the mapping W =

(A) 2v + 1

B) Z2v-1

4 T
= 183
2

= 1

=0

(C) o9 + 1 =0

(D) 2u—-1=0

Using the method of residues, find the value of ‘; smh— dz wherp ¢ 18 the

circle |z] = 4
(A) — 2mi (B) ni
(Cy - m (D) zero

AP(AS&H) Phy.-3/2014 30
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T3, A sample of certain olement is placed in'a magnetic field of .6 T and suitably
excited. How far apart are the Zeeman components of the 450 nm spectral

line of this element ?
() 0.00566 nm (B) 0.00632 nm
() 000716 nm @) 0.00856 m
74. The operator |¢ >< ¢| is a projection operator only when !
(A} | @ > is not normalized
(B) | ¢ > is purcly imaginary
(@) | ¢ > is real
D) | @ > is normalized

. I and | ¢ > are, respectively, the eigen value and eigen function of an

aperator (3, the eigen value of an operator ¢ for the same eigen function

would he |
(&) {B) a
(C) e , (D) &

AP(AS&H) Phy.-3/2014 31 PT.0.



76. A generator develops 200 4 and has an internal resistance of 100 ©. Find

the efficiency of the generator if the power is delivered to a lead of 300 Q.
(A} 25% (B) 50%
(C) 75% M) 100%

77. An a.c. supply of 230 V is applicd to a halfwave rectifier circuit through

a transformer of turn ratio 10 : 1. Find the output d.c. voltage.

(A) 548 V | (B) 718V
() 1036V @ 1162V

73 A 7.2 V zener is used in the circuit, as shown, and the load current is to
vary from 12 to 100 mA. Mind the value of series resigtance R to maintain
a voltage of 7.2 V across the load. The input voltage is constant at 12 V

apd the minimum zZener current is 10 mA.

7 R |
__IIZ5 N W -]
!ZV""‘.L: e | R

(A) 4350 @) 383 Q

(C) 3483 Q- (D) 238 2
AP(AS&H) Phy -3/2014 32



79.  When negative voltage feedback is applied to an amplifier of gain 100, the

‘overall gain falls to 50, What is the fraction of the output voltage

feadback ?
(A) 2 (B) 0.5
@ om (D) 0.02

§0. The r.m.s. value of carrier voltage is 100 V. After amplitude modulation by

a sinusoidal a.l voltage, the r.m.s. value becomes 110 V. Find the modulation

mdex.
(A) 1.65 (BY 0.53
() 049 (D) 0.36

81, Who was the last ruler of Kangra princely state ?
(A4) CGhamand Chand (B) Sansar Chand

(C} Anirudh Chand () Dhruv Dev Chand
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82, In which month is Renuka Fair celebrated ?.

(A) Kartika (8) Baishakh

(1) Shrawan (D) Bhadin

g1, is Markandeys Shrine and holy

3. Near which place m Bilagpur District of

spring 7

(&) Jhandutta (B} Jeori Patbn

(Cy Jukhala (D) Jagatkhana

84, In which year was the Judicial Commissioner’s Court 1 B.I. replaced by

the Delhi High Court ?

(A) 1963 (B) 1967

() 1971 (D) 1872

95, According to 2011 Census which district of TLP. huas the lowest S¢X ratio

(A) Solan (B} Kinnaur

(C) Bilaspur am (hzmba
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86.  Which region of H.P. is Halda Festival calebrated ?
-{A) Char;',dra-Bhaga Vélley {B) Doon Valley
(C) Kunihar Valley (D) Ralh Valley
87. Which one of (ho following 1s a domed style temple ?
(A)  Juwalamukhi (Kangra Dhstrict)
{B) Mrikula Devi (Udaipur, Lahaul-8piti District)
(€} Tripura Sundri (Naggar, Kullu District)
(M} Lakshna Devi (Bharmaur, Chamba District)
88.  Who traced the origin of Pahari language to Duardi and Pishachi ?
(A) Bhola Nath Tiwar!
(B) Hardev Rihri
((.33 G.A. Grierson

(B} Govind Chatak
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89.

91.

At which educational level is acholarship given to girl students belenging to

Balmiki families under Maharshi Balmiki Chhatravriti Yojna ?
(A) Primary level

(B) Elementary level

() Upto matric level

(D) Beyond matric level upto college level

With the colleboration of which country was Dhauladbar Farm Forestry Project

started i 1980 7

(A) Australia : (B) France

() Germany (D) USA

Whom did the Indian mer’s Kabaddi team beat in the final of the 17th Asian

Games held st Incheon, South Korea 7
(A) Afghanistan (B) Japan

(C) Iran (D) Malaysia
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95.  Under the old rules of International Hockey Federation there used to be 15

minutes break after half time. What is the now rule ¥
(A} Five minutes break after every 16 minutes of play

(B) Five minutes break after first and third quartér of play and 15 minutes

break after half time

(C) Five minutes break after first and third quarter of play and 10 wminutes

break at half time
(1) Ten minutes break after sach quarter

96. At what age did Malala Youssfzai win the 2014 Nobel Pesce Prize ?

4) 16 (BY 17
(C) 20 (0 21

37. Whe is the autho;' of The Dregms of My Father ?

(A) Varun Gandhi (B) Vini Mahsjan

(C) Barack Obama (I Bilawal Bhutts.
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98. Which country is at number ene in the global slavery Index of 2014 7
A1 China (B} Tndia
(1 Pakistan (M) Nigeria

89.  To which country did aid worker Kavsig whe was helping Syrian refugses
in Turkey and whom the Jihadis clisim to have executed around November,

2014, beling ?
{A) France (B] PBritain
(C) Ruasiz (1) USA

100, In which year was Right Livelihosd Award which is troated as alternative

Nobel Prize institutad ?
(&) 19&0) (B) 1996

(C) 2004 (3 2013
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